et

Your Performance Partner

Assembly Instructions
Large Storage Cart
for Music Stands

BEFORE YOU BEGIN

NOTE: The Storage Cart can be used with
Wenger’s Classic, Bravo, Preface,
Roughneck, and most other music stands,
but not with the Wenger Director Stand or
Gig Stand.

Remove all items from the shipping Carton,
and lay them out approximately in their final
position. Refer to the assembled view
below, and the exploded drawings on the
following pages.

Remove all items from the hardware bag,
and determine where all fasteners will be
used.

TOOLS REQUIRED

* Two 1/2" open-end or socket wrenches;
one 3/4" wrench

S =)

e Hammer

— )

* Phillips screwdriver

T F—

FASTENERS USED FOR ASSEMBLY

® Pushnut @ Machine Scraw
@ [l:l ke 1127

@Capscrew @Capscrew

[y

LI-—'— 3-112"

@B)Nut, 1727

(@) Lock Nut, Thin, 5/16”

Item Qty. Description

1 1 Axle assembly

3 2 Wheel, 8" dia.,

4 2 Pushnut, 1/2"

5 1 Base assembly

6 4 Tube, support I1t§m gty.

7 6 Capscrew, 5/16-18 x 3-1/2" 14 5

8 12 Nut, lock, full, 5/16-18 15 5

9 4 Tube, handle 17 8

10 4 Grip, handle 18 5

11 4 Screw, machine, Phillips 19 5
flat-head, 5/16-18 x 1-1/2" 20 5

12 4 Tubing, clear

[T
le— 278" —-I
Washer, 172"

© © ©

(18) Lock Washer, 1/2"

Description

To load music stands onto cart,
first fold the desk up as shown.

Capscrew, 5/16-18 x 2-1/4"
Caster, swivel, 5" dia.

Nut, 1/2-13

Cap, insert, 7/8" O.D.
Washer, lock, 1/2"

Bushing .50 dia. x 2.313 long
Washer, 1/2 1.D. x 1 1/2 O.D.

©Wenger Corporation 2010

Printed in China 03/10

Part #039C176-01

Wenger Corporation, 555 Park Drive, P.O. Box 448, Owatonna, Minnesota 55060-0448
Questions? Call.....USA: (800) 733-0393 ¢ International (call collect): (507) 455-4100



ASSEMBLY — LARGE CART




